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1. Introduction
This paper respond to the submitted papers R3-191227(Nokia), R3-191450(ZTE), R3-191783 (Ericsson), R3-191598(Huawei) for Desired Buffer Size (DBS).
2. Comparison
When compare the proposal or discussion part from the companies’ papers, it can be summarized, as depicted in the figure1 below that has different interpretations:
Interpretation 1: the DBS (Desired Buffer Size) in the gNB-DU exclude the received data in the buffer 
Interpretation 2: the DBS (Desired Buffer Size) in the gNB-DU include also the received data in the buffer 
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Figure 1

If to take an example that the total buffer size in DU is 10 bytes, 

· Interpretation 1: if DU set the DBS=7 bytes, CU can further send up to 6 bytes of data
· Interpretation 2: if DU set the DBS=10 bytes, CU can further send up to 6 bytes of data
However, for the inter-operability in different interpretations:
· Inter-operability A: CU is Interpretation 2, DU is Interpretation 1, then CU will further send up to 3 bytes of data

· Inter-operability B: CU is Interpretation 1, DU is Interpretation 2, then CU will further send up to 9 bytes of data

Both Inter-operability A and B has problem as A will less use the buffer size but B will overflow the DU, B will be more significant.

5. Conclusion and Proposal
The important thing is to have a common understanding whether Interpretation 1 or Interpretation 2, then the wording in the spec is important.
If the wording can not be expressed perfectly, one alternative is to depict a figure and show as an example in informative Annex.
Proposal: it is proposed to take a way forward.
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